W. Thres=poink jest crosses.
The three poindt testcross ilﬁ‘ﬂf&lﬂl‘tﬁ in wiiich one parent is heterozygous for three pepas.

The weps for qolving & theee poine 1est cnoss ane;

I, asslgn pargnml penotypss (elasses with the reas prageny}

2. assign double reconthimants {classes with the least progeny]

1, determine the geve order based od comparssot of the parenials and e doubbe recombings (the gene in the eriddbe

“flEps" or switeles with respect 1o the cther two flanking gznss in the dowble crossower when comparsd back 1o the
arednink)

g. rewriie the crpss il peedad

5. determine the Freguenicy of singlo erssovers betwesn geins A ond B and penes B and © (For the sader 5507

6, Diraw map based on recanshination fraquency of 1% = 1 generie mnp anit (mou.)



